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TR0t 3 MS - 177

PART - C
(Essay Type)

ﬁswer any three of the following. Each question carries 15 marks. (3x15=45)
%
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A{plain the various concepts of National Income.

10. 2. 2537, $e° 00 evdnen %m@oéwsi QWO
Explain J. M. Keyne’s Theory of Employment.

11, 3eoT, 139,083 TeagoRd eSO, IO
Explain the Monetary Policy of Central Bank.
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Explain the merits and demerits of Direct and Indirect Taxes.

/1’3. T2 T B 50RO ?
What are the causes for increase in public expenditure ?

IﬁTtpfﬁWW.howto*exam.com e = 4 "N TR R et e N


http://www.howtoexam.com

